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Total Synthesis of Vindoline

NH, a) CDI,
A H,NHNCOCOOMe b) TsCl, NEt3 B c) X, EDCI-DMAP C
N
MeO Me
d) 1,3,5-triisopropylbenzene
230°C
f) Hp, Pd/C
j) PtO2, g) Dess-Martin
HCI conc. (drop), h) Lawesson e) LDA, (TMSO),,
G Hy F i) Ra-Ni E then TIPSOTf D
—— - B
k) TBAF
1) PhsP, DEAD
m) Redal-H, AICl3
H n) Ac,0
—_—
Bng: T™SQ
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Total Synthesis of (-)-Rhazinilam
1) EtCOCI 2) CuCN (10mol%),
TMSQ (10mol%) Y, -78°C
CHO MgCl,, DIPEA 3) TMSCHN, 4) Ph3P-AuOTf
=z — e —
Et
5) Cl3CCOCI
then NaOMe
10) 2-CgH4(Bpin)NHBoc, 6) 0sO4 (10mol%), NMO
Pd,(dba)s (2.5mol%), then NalO,
SPhos (10mol%), K3POy
11) Ba(OH),-8H,0 7) Ph3PCHCOOMe
then TFA 8) Pd/C (10mol%), H

J

then HATU, DIPEA 9) I, AgQOOCCF3
12) 50% NaOH

then HCI, 50°C

(-)-rhazinilam

think about: why does he need step 5)?



